. ™ 2 N 1 UNIVERSAL BASKET RACK™
CaI‘I‘ICSA Golf Cart Assembly

Model 200
1/4” x 2 1/8” Bolts
(4 Places)
1/4” x 2 1/8” Bolt
Side Bar (2) Y (12 places)

1/4" x 2 1/8” Bolt
)

13/16” Molded End Cap

(16 places) \m,: Q

-

Figure A \® Plastic Foot
(4)

1" Molded End Cap/ Rut:zlierl:gg;)Pad
(4 places) P

Golf Cart Assembly Instructions and Diagrams

& 1. Insert the 20 molded End Caps into open ends of the tubes. Use small light rubber or
~— metal hammer. Tap lightly to seat the end caps.
Tighten the nuts and bolts so they are snug. If to tight the rack will not fold easily for
storage.
Attach the two Side Bars to the two 1" Bottom Support Bars. See Figure A.
Attach the four %+" Support Bars to the Bottom Support Bars. See Figure A.
Attach the two Top Cross Support Bars to the two Side Bars. See Figure A.
Place rack on the Golf Cart Top and locate the best mounting holes for each Foot
allowing them to rest flat on the Roof Top at the widest point.
Remove Rack from Top, and attach the four plastic Feet with the angle side outwards.

N

Figure B

ook w

~

See Figure A. e

8. Clean the roof surface area where each Foot Pad will rest. Next, pla
Pad onto the bottom of each Foot Support, and place the rack onto the Cart Top and
center.

9. Loop strap around the far ends of the four Sidebars of the rack, and then around the
Cart Top Support Bracket keeping the Buckle near the Side Bar. See Figure C. Careful
not to twist strap.

10. Thread end of strap through the Double Buckle. See Figure B.

11. Alternately tighten each strap until rack is secure to the top. The Rack should not move
in any direction when secured properly!

SAFETY PRECAUTION RECOMMENDATION
After traveling a short distance, stop and check to see that all the straps are secure.

WARNING

Golf Cart Tops cargo not to exceed distributed weight of 50 Ibs.
Coolers not recommended.

The attachment of this product is extremely important and beyond the control of CarriesAl/ ™ Corporation. CarriesAll™ is not in any way responsible for or neither guarantees, or will
it be liable for any damage resulting from the assembly, its attachment or the installation, or improper use. The complete liability of this product is limited to its purchase price if
it proves to be defective in material and/ or workmanship.

For Additional Products and Information ¢ Patent Pending
CarriesA/l ™ Corporation * PO. Box 7035 * Myrtle Beach, S.C. 29572 » 843.839.2929 « www.carriesall.com

ce a Rubber Foot



Y ™
Carrles/lll Automobile Assembly

2 N1 UNIVERSAL BASKET RACK™

Model 100
1/4” x 2 1/8” Bolts
(4 Places)
1/4" x 2 1/8" Bolt
Side Bar (2) 5 2 places)

13/16” Molded End Cap

(16 places) T~

Figure A \% Plastic Foot Gutter Hook (4)
@ / Gutter Strap (4)
1” Molded End Cap Rubber Foot Pad
(4 places) (4 places)
T

Automobile Assembly Instructions and Diagrams

1. Insert the 20 molded End Caps into open ends of the tubes. Use small light rubber or metal
hammer. Tap lightly to seat the end caps.

Tighten the nuts and bolts so they are snug. If to tight the rack will not fold easily for storage.
Attach the two Side Bars to the two 1" Bottom Support Bars. See Figure A.

Attach the two Top Cross Bars to the two Sidebars. See Figure A.

aRr®N

Attach the four %" Support Bars to the Bottom Support Bars. See Figure A.

Outer
Door ——.

Gutter
Hook

Note: This Rack comes with 3 different sets of auto gutter hooks for
attaching the Rack to your vehicle’s roof. Carefully select the set of
hooks that best fits your vehicle. See Figure C and D for example.

6. Thread end of strap through the front of the Side Bar, and selected Gutter Hook as shown in
Figure C or D. Thread the Strap through the Double Buckle as shown in Figure B.

7. Attach Plastic Feet to the Bottom Bars making sure the Foot with the angle side outerwards
and using the holes closest to the outside. See Figure A.

8. Alternately tighten each strap until rack is secure to the Top. The Rack should not move in
any direction when secured properly!

Seal SAFETY PRECAUTION RECOMMENDATION
After traveling a short distance, stop and check to see that all the straps are secure.

Figure D WARNING

Automobile cargo not to exceed distributed weight of 150 Ibs.

The attachment of this product is extremely important and beyond the control of CarriesA// ™ Corporation. CarriesA//™ is not in any way responsible for or neither guarantees, or will
it be liable for any damage resulting from the assembly, its attachment or the installation, or improper use. The complete liability of this product is limited to its purchase price if
it proves to be defective in material and/ or workmanship.

For Additional Products and Information * Patent Pending

CarriesAll ™ Corporation * PO. Box 7035 » Myrtle Beach, S.C. 29572 » 843.839.2929 » www.carriesall.com



CarriesA// ~

2 N1 UNIVERSAL BASKET RACK™

Automobile Assembly
Model 100 - Parts Diagram

Side Bar
(2)
° ] Bottom Support Bar
(4)
c) Top Cross Bar
(2)
° °J Bottom Support Bar

1”
Molded End Cap

(4)

Rubber Foot Pad
(4)

CarriesA// ™ Corporation
For Additional Products & Information
Patent Pending
PO. Box 7035
Myrtle Beach, S.C. 29572
843.839.2929

www.carriesall.com

&3

13/16”
Molded End Cap
(16)

(2)

S (0

1/4” x 2-1/8” 1/4”
Bolt Lock Nut
(20) (20)
N
\ \
S
Plastic Foot t(rj)p S
(4)
______________________ -
Gutter Hooks
(4 each)




. 2 N1 UNIVERSAL BASKET RACK™
CaI‘I’ICSA[Z - Golf Cart Assembly

Model 200 - Parts Diagram

Side Bar
: (2)

( S S ) Bottom Support Bar
(4)
1 s} Top Cross Bar
(2)
= S ° ° 2] Bottom Support Bar

(2)

i} i, F— o)
1" 13/16” 1/4” x 2-1/8” 1/4”

Molded End Cap Molded End Cap Bolt Lock Nut
(4) (16 (20) (20)

< mw@

Rubber Foot Pad
(4) Plastic Foot

(4)

Straps
(4)

CarriesA// ™ Corporation

For Additional Products & Information ¢ Patent Pending
Post Office Box 7035 * Myrtle Beach, South Carolina 29572
843.839.2929 ¢ www.carriesall.com




